
VE 13 janvier 2012 

Le Compte est bon!   
 
 
Tirage:       3  /   4   /   10   /   15   /   25  /   40 
 
Nombres cibles   ( 1  -  4  -  8  ) 
 
 

  148 
40 x 4 = 160 25 x 4 = 100 
              160 – 15 + 3 = 148 100 + 40 + 15 – 10 + 3 = 148 
  Tous les nombres sont utilisés! 
40 – 3 = 37  
              37 x 4 = 148  
 

  184 
15 + 3 = 18 
              18 x 10 = 180 
                              180 + 4 = 184 
 

  418 
 
10 x 40 = 400 
                400 + 15 + 3 = 418 
 
 

  481 
15 x 25 = 375 
  3 x 40 = 120 
                375 + 120 – 10 – 4 = 481                         Tous les nombres sont utilisés! 
 
 

  814 
 
15 : 3 = 5 3 x 15 = 45 
25 – 5 = 20 45 – 25 = 20 
              20 x 40 = 800                 20 x 40 = 800 
                               800 + 10 + 4 = 814                                  800 + 10 + 4 = 814  

Dans les deux solutions tous les nombres sont utilisés! 
 

  841 
 
40 + 25 = 65 
 10 +  3 = 13 
65 x 13 = 845 
                845 – 4 = 841 


